(1 1) ZArnfipgmMEanc ()

fli#% - M/ m, Z#E= : %)

* = H
JIEA57. O K B AR IR 1EOUE oo Fr fF Hh WRR2THRARMRS | R8RS | AEh
M/ m M/ m %
1 |F1EH—3 WA [ TARHROSERT 6 % 14 3, 150, 000 3, 480, 000 10.5
2 |[#k—4 HEH |[HBEAEK1ITH1424%1 2,970, 000 3, 350, 000 12.8
Th%k1—14—11]
3 | FRHE—-1 WA | TRERX=FT6%&25 2,430, 000 2,670, 000 9.9
4 |FARHE—-7 WS | TREX—FIT1 653 2,610, 000
[—%HET16—3]
5 | FRHEH-—-5 W | TREXUEILE2THG6E?26 2, 280, 000 2,520, 000 10.5
FThBdb2 —3—25]
6 [#E—16 WA |HEXEEMAA4 TH1 9% 14+ 2, 190, 000 2, 480, 000 13.2
TEgFifi4—9—61]
7 | THRHE—-6 WA | TAREXERET2 TH2%2 3 2, 050, 000 2,210, 000 7.8
[ BT2 —4 —1 3]
8 |[#—13 WA  |[HEXooHAi 2 TH 1 3 8%F 94 1, 950, 000 2,070, 000 6.2
Tewfic —3—24]
9 [H—1 HEA |[HEERARK6THLI91 1% 1, 880, 000 2, 060, 000 9.6
[H¥6—19—23]
10 |#%—3 WRAD  |EXEHEIL4 T H3 4 2%44 1,910, 000 2, 050, 000 7.3
[E&HL4—20—4]
(A8 - M i, BEIER - %)
] ES i
JEAL = F B A IR BEOHE O oo F {E Hb SERR2THEA iR | SR8 A RliRS | AEhR
M,/ o M,/ n %
1 |5 —-22 WA  [FRXEBEATH2EA4 33, 800, 000 40, 100, 000 18.6
[$REE4 —5— 6]
(1L By B 2R ER A )
2 |5 —41 WA [PRXEBESTHLO0 1E 14 29, 400, 000 34, 700, 000 18.0
[$REE5 — 3 — 1]
($R)EE Y =— L)
3 |TRHES5—2 R | FRERALON2 TH2%E 14 30, 600, 000 32, 800, 000 7.2
Ffom2—4—11
LOWNENT £ 7))
4 |Hd5-23 WA [P RXERE T TH1E 244 24, 300, 000 28, 800, 000 18.5
FeRAEE7 —9—1 9]
(ZARA)
5 |5 —29 WA [P RXEEE2TH2%1 94+ 24, 300, 000 28, 700, 000 18.1
[eRAEE2 —6 — 7]
(BB EERE L)
6 |[#1E5—35 WA [FrEX#HE3THS80 7EH1 22, 800, 000 26, 300, 000 15. 4
7 |H1E5—24 HRE |[HEXHE3 TH30EFL 34 22,000, 000 25, 500, 000 15.9
[HmE3—30—11]
CRESL T =)
8 |TFfRmE5—21 WA | TREXKFEIT2 TH4E 24 23, 400, 000 25, 100, 000 7.3
TRkFHET2—2—1]
(R FITELF )
9 |FfM5—19 HRA | TREXRRON3TH 2% 21, 900, 000 23, 500, 000 7.3
F[fLoW3—3—1]
FHEAELF )
9 |FRME5—30 WA | TREXKFEETLT TH3E3I 21, 900, 000 23, 500, 000 7.3

TRFEETT—7—2]
ERYr A e




(iAg - M i, EEER . %)

T ES H
JIEAE e & B AR TE I U FEOE HL O P (T Hh SERR2TAEAN RS | SERk28FE ARl | EEhR
M,/ nd M,/ nd %

1 [ km9—2 WA | KEXKEE2TH7EL 468, 000 523, 000 11.8
T2 —1—21]

2 |JLE9—3 WEE |[[CHEREE2TH2 2%4 405, 000 413, 000 2.0
M2 —-10—1 3]

3 |iTHE9—2 WA [TRRXEE2THOIE4 2 374, 000 385, 000 2.9
[RE2—-—14—19]

4 | KH9—-3 WRE | KEAREAH3ITHIGHZ29 337, 000 342, 000 1.5
[REA3—16—17]

5 |&)I9—1 HEHE |[WIENE 2 TH 7% 312, 000 328, 000 5.1
T\#2—7—81]

6 NLFJI9—1 WEE [[IFJIXMII5TH1126%1 308, 000 311, 000 1.0
[T 5—22—21]

7 HLFI)I9—4 WA [CFINXE#EIT3S TH6E 25 281, 000 287, 000 2.1
FEERT3 — 6 — 3

8 |B9—1 WA [N XEMEe TH45 5% 14+ 272, 000 272, 000 0.0
[fEiie —11—17)]

9 | KmH9—4 HRAE [ KHAXKHHE3ITH433%1 2 261, 000 266, 000 1.9
TR#ZHE3—22—9]

10 [H#E9 —1 WA [BREXEERT1ITHOIE1O 260, 000 264, 000 1.5
FTRITF1—14—12]

(it 11 /i, BB %)

S i B2
JIEAE P ORE O K B AR IR BOUE M o pF /E Hh SERR2TAEN s liRG | SERR28AEA /RliRG | AEhR
M,/ ot M,/ i %
1 |5 —-22 WS |PORXERE 4 TH 2% 4 33, 800, 000 40, 100, 000 18.6
[#RAE4 —5— 6]
(1L By B 2R R A )
2 |[fH5—-41 HEHES  |TPRXERES TH 10 1% 14 29, 400, 000 34, 700, 000 18.0

TeREES —3—1]
(SR Y =—E L)

3 | THRHE5—2 WERE [FTAEXILON2TH2%E1 4 30, 600, 000 32, 800, 000 7.2
o2 —4—1]
(FLOWNE LT 4 7))

4 |5 —-23 R PR ERE 7 TH 1% 245 24, 300, 000 28, 800, 000 18.5
TeREE7 —9—19]
(ZARA)

5 |Hdks5—209 R R XERE2 TH 2% 1 94 24, 300, 000 28, 700, 000 18. 1
TeREE2 —6 — 7]
(BRR BRI B L)

6 |[#1E5—35 HEA | HEXHIE3THEHS O 7%H 1 22,800, 000 26, 300, 000 15. 4

7 |HiE5—24 W | HERHE3TH30& L 34+ 22,000, 000 25, 500, 000 15.9
THmE3—30—11]
CREEL Y D)

8§ |FRE5S—21 WA | TREXKFEIT2 TH4E 24 23, 400, 000 25, 100, 000 7.3
TRFHT2—2—1]
CHRFERTENLF )

9 |FRE5—19 HRE | TREXAON3 TH 2% 21, 900, 000 23, 500, 000 7.3
FHoN3—3—11
(HrEme LT )

9 |FME5—30 WA | TREXKFEE T TH3E3I 21, 900, 000 23, 500, 000 7.3
TRFHET1—7—2]
(gL E)L)

) T ) FSFEERTR
Al U8R TNARL N 570 2 DI, N 2 LA F ORI L D b D,



